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THSEHBEE EFZABRFORS (RB)FEOHME

4 M 4% 12 R
EREHABEHRB

1 FHIFEICETDHEABRDODRESEHEDOHE
(BFHKR) [MIEEICETIEABREORESHE
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(BFHR) ANIEBEEICBTLIRRMEHREORTERE

X SR—VHURIZERMD (BBHR) ERHFLTLET,



1 SHIFEICETIEABOREEFEOHRE

¢ HEFRFIEHEOLEIL 4 KA

SHMIFEEIZBITHEANTROBEH#HIEI36H4, 598484 T, TDHE
FTESENREIXIIK9, 95 1{EM, BEMEDHEEIES, 006EMHEL

U, BIEEIZHR, ThEFN5E, 4091EH (15. 7%). 06 71{&

A (15. 4%) #EmMLTWLWET,

GE)1 BHBFAA1AALHRMAFIAITHETICR T LEFEFEICRSIBEIIOVT, FMAF7AS1HETICRELAH LD
THAFSARBAETRYEEHTLET,
2 SMIFIAIIBETIIRTLEERFEICRIBEDIL. KEFICIHREOHRIERICELY, AEEDOEHRAM P (F

1 L

MIF8A1AMNLRMAFE7 A1 BET) ICHENH>-LDLEFNTLET,

O EANFROBEHEHZFDOIKR
FESF «F12 +H13
IHH L S O BIEEXTEE
“ # #® “® %
i = L 360,565 364,598 4,033 101.1
w = .= ﬁ &M &M &M %
mE R E & 34542 39,951 5,409 115.7
H o EH {EH[ {EH %
i = B & 6,939 8,006 1,067 115.4
O HEMSREOH®E
- 33Jk 9,951 &M
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(BEFR)

B3 FEICETHEATRFED

HEEE
[FR{EBERRENE]

AT EABDIRKR
X4 SH346H 30 BIRE 44568 30 BRE
1EH H BTEXTEE H % BTEXTEE
w EA % EA %
3 *
A A 2 378,605 100.8 383,636 101.3
GE)BEREANONTIE, EREIMLEBRMLTLETS,
AEK2  EATBROBSEDIKR
FEZE a2 L3
I5E e BIEXTLE e BT XTEE
, # % #® %
H #
moos W | 360,565 1012 364,598 101.1
% Ak % A+
H ""'| P
G K 92.1 +05 92.7 +0.6
N #® % #® %
= H
& F H 2| 3 123,606 101.4 127,608 103.2
% RAb % RAVb
B = £ x5 o
FREHE] 4 34,3 +0.1 35.0 +0.7
_ BAH % BAH %
H PA=] =
AR E®| s 3,454,180 1135 3,995,087 115.7
- M % FM %
Lf-YURmB £ 27,945 111.9 31,307 112.0
BAH % BAH %
H = Py
mERBEE N7 1,406,483 147.2 1,097,667 78.0
*FBR &1 4 o FH % FH %
Lf-YrRELEE 5,935 145.6 4,632 78.0
AlFR 3 EATRDIFREEDINR
FES L2 _ 43
15 H & % Al EE % b & % BIER L
“® . & BAA % BAHA %
e = B & 693,901 115.4 800,569 115.4
AT A  MAEZABOREDIRR
FES L2 _ 43
IEH ® % R EE % EE + % BIEEXTEE
BhAH % BhAH %
“® = %
& = B & 65,122 231.1 86,565 132.9




2 FHSEBFEICETIRRTBHFORBHEMOME

¢ HRMEGHBHEFOBFAIIAMEHEEICLE~N4 0 2{EMDOEM

SHIBHFEEICHITHBERATEHEDOTEEL1JK2, 80 8{EMHT., HI
ERFEICEERN402EM (3. 2%) #EmMLEL
FHMAFBICONTHS E, BEFREOFEEL3 6 3EA (3. 8%) N
L. BEYFrEOHREEEX1 298 (7. 3%) BALTULET,
GE)1 SHMBE7A1BILREN4E6ASORETIRHEDH --BINEHEZEDOHRBERUBRBERI T o MBS MICHRIBMEEETEST

LTLEY,
2 TR25F1A1BUERET SFFICRIBENI S, BRFAIAERASFTATOET,

O IRRFIBEHRFDOHEADINT

ERFEESE 2 3

BB G| it %8 # R BIEXxTEE

_ . el &/ it %

8 = AR = 9,572 9,936 363 103.8

B 5 AT = 184 196 12 106.6

I F BB %F 129 100 A29 77.4

fic = AT = 1,773 1,644 A129 92.7

BEOERARE LSEKAE

o = oE oA = 354 539 185 152.2

W e FE B 337 344 7 102.1

¥ B I B F BT B 57 49 A3 86.7

& Hi 12,405 12,808 402 103.2

O RRAEHRFOREDIHER 1 9k 2, 808 &M
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(BEFR)

TH3EBHEEICE TR RIMGHFORGEE
[FR{EBERRENE]

AT 1 BERBIREFERDOIKR
X5 | S#M3%F6A 30 BIRA SM45E6H 30 HIRAE
I5H EREN | MEXEL | SRER | SIESL
L] # % # %
& B & A 302,927 100.5 307,302 101.4
* & pr Al 2 3,717 97.8 3,679 99.0
5
B N F| 3 1,806 90.9 1,802 99.8
o & Al a4 137,116 97.4 135,691 99.0
z D s 14,177 99.3 14,133 99.7
B 5 6 459,743 99.5 462,607 100.6
1l F i 5 = 4,196 96.8 4,107 97.9
s =| i 5| s 15,773 99.5 15,943 101.1
BEOERNRELESKASE
D E§ ig Fﬁ_ %E‘F % 9 1,496 99.2 1,483 99.1
B M OB £ F BT /B 10 345,257 99.8 345,637 100.1
E B £ &FB F B & 1 2,140 87.3 1,869 87.3
K2 . BRRIIEHRFOBREDIRR
EHREESE =2 43
I5H S BEXE | B %@ BT
= .8 BAH % BAH %
# = 2 T 957,240 99.2 993,585 103.8
1B 54 it 5| 2 18,395 98.6 19,618 106.6
w3 F i e % | 3 12,853 106.4 9,952 77.4
i = AT 5| a 177,288 119.2 164,410 92.7
BEOERNRELSHAE
o @ E o =5 35,431 191.0 53,917 152.2
B M OB € F PBT &) e 33,652 95.3 34,373 102.1
E B £ HE F M & 7 5,663 97.1 4911 86.7
& i 8 1,240,523 103.0 1,280,766 103.2




(BFFR)

THMIFEICETDEABRFORESEE

[ 2l P Y =
[k IR &)
AT EANBDIKR
X5 SHIE6A0HIRE SH4E6H0BRE
IHH H BIERTEE H BTEXT
EA % A %
; A %
A = 53,489 100.5 54,568 102.0
G BETENCOVNTIE, B HEALBRALTOET,
AR 2 EAFRD BRSO
FESE &2 3
15H Y8 BTEX L Y% BTEX
i % # %
i ale 1
i 5 K # 50,520 101.2 51,253 1015
% RAk % RAk
= 7 a2
S I & 91.3 +15 92.2 +0.9
#® % # %
[—] i 3
A F RS R H 17,962 102.8 18,311 101.9
% RAE % RAk
= F & F &| 4
= ?E A A 35.6 +0.6 35.7 +0.1
_ BAH % =Pl %
&= B & % 5
?E MR & 413,393 112.6 456,207 110.4
EFx B HF1H4 5 FH % T/ %
LU BEEH 23,015 109.6 24914 108.3
BAH % BhAH %
& g & %8| 7
FE R & 291,894 1815 153,517 52.6
x F B H 14 5 FH % T/ %
LY RiEEE 8,965 181.0 4,660 52.0
AT 3 : EANFRDFREED IR
FESE &2 3
15H & % BTEX & % BTERTEE
BAH % BhAH %
" . -
i = *R =R 83,749 114.6 91,937 109.8
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H & % BTEX €& % BTERTEE
BAH % BAhAH %
& i %8
i = *R 7,427 2221 9,810 132.1




(BEFR)

THIEBEEICKITHRRATERFORNSEME

[RIFIEET]
AT BRRBINEFEROIKR
X9 SH3E6H3I0BRE SH4E6H30BRE
HH EHEN | AIEXLL A% | AIEXE
e % 7 %
A 15 & Al 41,825 99.7 42,803 102.3
s 53 & pr Al 2 644 95.7 637 98.9
B N Fr| 3 369 97.4 366 99.2
i Al 4 23,889 97.0 23,487 98.3
4 ) fh| 5 2,135 98.8 2,133 99.9
= B 6 68,862 98.7 69,426 100.8
F F i & | 7 729 94.7 716 98.2
s =] Fr #=| 8 1,688 100.2 1,747 103.5
BEOERNRELSHASF
o ®m B B = 9 88 101.1 91 103.4
M O € F OB O#/| w0 50,997 99.6 51,180 100.4
E B £ B F B B/ 1 182 82.7 159 874
AT 2  BRRAABHRFOREDIKR
EHREESE &2 =3
HH i % BT L hh %A BT EE
~ B8AH % BAH %
8 F i =| 148,130 99.3 153,748 103.8
pl=d i34 AT B 2 2,649 945 2,903 109.6
F F AT = %| 3 1,063 87.2 873 82.2
[T =] AT = 4 24,006 97.5 29,306 122.1
BEOENRELSEH®AEF
o m E B = 5 6,338 256.8 8,053 1271
B M OB € F BT % e 4,226 98.7 4,272 101.1
E B £ F F P # 7 745 106.5 639 85.9
=) it 8 187,156 101.0 199,794 106.8




(BFFR)

THMIFEICETDEABRFORESEE

[FAREET]
AT EANBDIKR
X4 SM3FE6A308RE SM4FE6A30BRE
15H H BIERTEE H BTEXT
EA % A %
; A %
A = 41,496 99.8 41,806 100.7
G BETENCOVNTIE, B HEALBRALTOET,
AT 2  EANFRDEBRSDIRR
FESE &2 3
15H Y8 BTEX L Y% BTEX
# % # %
i ale 1
i 5 K # 40,143 100.6 40,285 100.4
% RAk % RAk
= 7 a2
S I & 92.4 +0.7 93.6 +12
# % # %
[—] i 3
A F RS R H 12,885 101.6 13,232 102.7
% RAE % RAk
R F T & &] 4
A F R S8 S 32.1 +0.3 32.8 +0.7
_ BAH % =Pl %
&G e s
?E MR & 319,028 108.1 367,703 115.3
EFx B HF1H4 5 FH % T/ %
LU BEEH 24,760 106.4 27,789 112.2
BAH % BhAH %
& g8 & %B| 7
FE R & 133,041 1335 107,190 80.6
x F B H 14 5 FH % T/ %
LY RiEEE 4881 133.3 3,962 81.2
AT 3 : SEANFRDIREED IR
FESE &2 3
15H & % BTEX €& % BTERTEE
BAH % BhAH %
" . -
i = *R =R 64,690 111.1 75,696 117.0
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H € # BTEX €& % BTERTEE
BAH % BAhAH %
" . -
i = *R =R 5,621 208.1 8,021 142.7




(BEFR)

THIEBEEICKITHRRATERFORNSEME

[HARIEET]
AT BRRBINEFEROIKR
X9 SH3E6H3I0BRE SH4E6H30BRE
HHB EHEN | AIEXLL A% | AIEXE
= % 7 %
Ll ES 15 & Al 33.961 99.8 34,242 100.8
s 53 & pr Al 2 427 93.6 422 98.8
B N F| 3 236 98.3 233 98.7
|18 Al 4 16,460 96.8 16,363 99.4
4 ) fh| 5 1,689 97.5 1,666 98.6
= B 6 52,773 98.7 52,926 100.3
F ¥ P = | 7 449 97.2 437 97.3
fid =] P #=| 8 1,334 100.8 1,353 101.4
BREOERNRELSHASF
o ®m E B = 9 54 98.2 55 101.9
M O € F OB O#/ w0 39,470 99.4 39,323 99.6
E B £ B F B B/ 1 149 93.1 137 91.9
AT 2  BRRAABHRFOREDIKR
EHREES &2 =3
EHB i % BT L hh %A BT EE
~ B8AH % BAH %
8 F i =] 114,158 97.3 117,858 103.2
pl=d i34 AT B 2 1,989 109.0 2,447 123.0
F F AT = %| 3 820 100.5 685 83.5
[T =] AT = 4 23,402 184.7 14,056 60.1
BEOENRELSESH®AEF
o m B B = 5 3,776 155.2 5,980 158.4
B M OB € F BT | e 3,385 96.4 3,241 95.7
E B 1 B F Fr 7/ 7 616 57.1 734 119.1
=) it 8 148,147 106.1 145,001 97.9




(BFFR)

THMIFEICETDEABRFORESEE

[B+EIRET)
AT EANBDIKR
X4 SM3FE6A308RE SM4FE6A30BRE
15H H BIERTEE H BTEXT
EA % A %
; A %
A = 43,687 100.3 44,149 101.1
G BETENCOVNTIE, B HEALBRALTOET,
AT 2  EANFRDEBRSDIRR
FESE &2 3
15H Y8 BTEX L Y% BTEX
# % # %
i ale 1
i 5 K # 42,358 100.8 42,706 100.8
% RAk % RAk
= 7 a2
S I & 93.3 +1.1 94.0 +0.7
# % # %
[—] i 3
A F RS R H 13,676 99.9 14,085 103.0
% RAE % RAk
R T = & & 4
= ?E A A 32.3 AO03 33.0 +0.7
_ BAH % =Pl %
L B £ % s
?E MR 536,220 123.0 538,489 100.4
EFx B HF1H4 5 FH % T/ %
LU BEEH 39,209 123.2 38,231 97.5
BAH % BhAH %
& g8 & %B| 7
FE R & 177,074 146.4 174,687 98.7
x F B H 14 5 FH % T/ %
LY RiEEE 6,174 144.6 6,103 98.9
AT 3 : SEANFRDIREED IR
FESE &2 3
15H & % BTEX €& % BTERTEE
BAH % BhAH %
" . -
i = *R =R 113,859 1285 111,608 98.0
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H € # BTEX €& % BTERTEE
BAH % BAhAH %
" . -
i = *R =R 10,840 261.9 11,995 110.7




(BEFR)

THIEBEEICKITHRRATERFORNSEME

€:3:3-59
AT BRRBINEFEROIKR
X9l SH3E6H3I0BRE SH4E6H30BRE
HH EHEN | AIEXLL A% | AIEXE
e % 7 %
Ll ES 15 & Al 35352 99.7 35791 101.2
s 53 & pr Al 2 433 103.3 432 99.8
B N Fr| 3 291 96.7 292 100.3
ELE A| 4 17,263 95.5 17,188 99.6
e )] f| 5 1,956 97.6 1,944 99.4
= B 6 55,295 98.3 55,647 100.6
F F i & | 7 581 97.5 570 98.1
s =] Fr #=| 8 1,894 98.7 1,919 101.3
BREOERNRELSHASF
o ®m E B = 9 302 100.3 296 98.0
M O € F OB O#/ w0 43,144 100.7 43,228 100.2
E B £ B F B B/ 1 255 91.1 215 84.3
AT 2  BRRAABHRFOREDIKR
EHREES &2 =3
EHH i % BT L hh %A BT EE
~ B8AH % BAH %
8 F A =] 115,473 97.7 120,064 104.0
pl=d i34 AT B 2 2525 845 2,348 93.0
F F AT = %| 3 1,018 97.2 884 86.9
[T =] AT = 4 12,700 85.6 20,553 161.8
BEOENRELSESH®AEF
o m E B = 5 3,520 189.8 5,309 150.8
B M OB € F BT | e 3,791 99.1 3,706 97.8
E B £ F F P # 7 338 99.4 293 86.4
=) it 8 139,366 97.4 153,156 109.9
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(BFFR)

THMIFEICETDEABRFORESEE

CEACED!
AT EANBDIKR
X4 SM3FE6A308RE SM4FE6A30BRE
15H H BIERTEE H BIEXTEE
EA % A %
% A %
= 151,341 101.6 153,940 101.7
CI)BATRENCOLCIL. B HRALRILCOET .
AT 2  EANFRDEBRSDIRR
FESE &2 3
15H Y8 BTEX L Y% BTEX
# % # %
" sl
i 5 K # 140,188 101.9 142,806 101.9
% RAk % RAk
= 7 a2
S I & 90.1 +0.3 90.6 +05
# % # %
[—] i 3
A F RS R H 49,469 101.7 51,408 103.9
% RAE % RAk
= F & F &| 4
= ?E A A 35.3 AO1 36.0 +0.7
_ BAH % =Pl %
L B £ % s
?E MR 1,212,175 112.7 1,391,999 114.8
EFx B &HF1H4 5 FH % T/ %
LU BEEH 24,504 110.7 27,077 1105
BAH % BhAH %
& g8 & %B| 7
FE R & 469,030 140.9 400,461 85.4
x F B H 14 5 FH % T/ %
LY RiEEE 5,170 138.1 4382 84.7
AT 3 : SEANFRDIREED IR
FESE &2 3
15H & % BTEX €& % BTERTEE
BAH % BhAH %
" . -
i = *R =R 243,976 1135 280,312 114.9
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H € # BTEX €& % BTERTEE
BAH % BAhAH %
& i i)
i = *R 22,679 229.6 30,040 1325
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(BEFR)

THIEBEEICKITHRRATERFORNSEME

(HERH]
AT BRRBINEFEROIKR
X9l SH3E6H3I0BRE SH4E6H30BRE
HH EHEN | AIEXLL A% | AIEXE
e % 7 %
Lk 15 & Al 119,016 101.3 121,617 102.2
5& & P Al 2 1,193 99.4 1,215 101.8
B N Fr| 3 494 99.6 491 99.4
i NI 43,121 98.1 43,129 100.0
z D | 5 3,730 100.2 3,722 99.8
= B 6 167,554 100.4 170,174 101.6
F ¥ P = | 7 937 98.7 935 99.8
s =] i #=| 8 4,338 98.7 4419 101.9
BREOERNRELSHASF
=t R = PA=] 9 . .
o ®m B e = 327 98.5 326 99.7
M O € F OB O#/| w0 125,007 100.2 125,815 100.6
E B £ F F B B/ 1 763 88.7 761 99.7
AT 2  BRRAABHRFOREDIKR
EHREES &2 =3
HH i % BT L hh %A BT EE
~ B8AH % BAH %
8 F i =| 355,876 100.8 368,228 103.5
pl=d i34 AT B 2 6,192 92.2 7,193 116.2
F F AT = %| 3 6,526 112.6 4,994 76.5
il = AT = 4 72,172 114.7 63,688 88.2
BEOENRELSESH®AEF
o m g B = 5 14,008 172.2 23,731 169.4
B M OB € F BT | e 13,799 91.6 14,475 104.9
E B £ F F P # 7 2,947 1245 2,445 83.0
=) it 8 471,519 103.8 484,752 102.8
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(BFFR)

THMIFEICETDEABRFORESEE

[#himRET]

AT EANBDIKR
X4 SM3FE6A308RE SM4FE6A30BRE
IHH H BIERTEE H BTEXT
EA % A %
P A %
= 42,419 100.3 42,518 100.2
G BETENCOVNTIE, B HEALBRALTOET,
AT 2  EANFRDEBRSDIRR
FESE &2 3
15H H8%E BTEX L HH#E BTEX
i % # %
" sl -
i 5 K # 42,029 99.8 42,135 100.3
% RAk % RAk
- &l 2
S I & 95.9 +0.2 96.0 +0.1
#® % # %
= F & 3
= PEHH 15,298 98.7 15,631 102.2
% RAE % RAk
= F & F &| 4
= ?E A A 36.4 A 04 37.1 +0.7
_ BAH % =Pl %
L B £ % s
?E MR 480,948 103.4 550,127 114.4
EFx B HF1H4 5 FH % T/ %
LU BEEH 31,439 104.8 35,195 111.9
BAH % BhAH %
& g8 & %B| 7
FE R & 177,769 146.7 132,434 74.5
x F B H 14 5 FH % T/ %
LY RiEEE 6,650 145.9 4,997 75.1
AT 3 : SEANFRDIREED IR
FESE &2 3
15H & % BTEX €& % BTE X
BAH % BhAH %
“ . -
i = *R =R 94,288 104.6 107,234 113.7
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H € # BTEX €& % BTERTEE
BAH % BAhAH %
& 57 i)
i = *R 9,236 210.0 11,998 129.9
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(BEFR)

A1 RRBIREFEBROKER

THIEBEEICKITHRRATERFORNSEME

[(#FrimRET]

Kol SH3EFE6H0HBRHE SH4E6H30BRE
HH EHEN | AIEXLL A% | AIEXE
e % 7 %
Ll ES 15 & Al 35,705 100.6 35,698 100.0
s 53 & pr Al 2 528 98.7 498 94.3
B N Fr| 3 143 99.3 142 99.3
fr | 1B Al 4 18,020 98.3 17,428 96.7
e )] f| 5 2671 100.9 2,666 99.8
= B 6 57,067 99.9 56,432 98.9
F F i & | 7 807 96.4 776 96.2
s =] Fr #=| 8 3,741 99.9 3,719 99.4
BREOERNRELSHASF
=t > = PA=] 9 . .
o ®m g B = 390 99.5 379 97.2
M O € F OB O#/ w0 40,030 99.1 39,763 99.3
E B £ B F B B/ 1 201 91.8 187 93.0
AT 2  BRRAABHRFOREDIKR
EHREES &2 =3
HH i % BT L hh %A BT EE
B8AH % BAH %
8 F i =] 110,052 98.6 113,234 102.9
pl=d i34 AT B 2 2814 118.6 2,074 73.7
F F AT = %| 3 1,198 98.6 922 77.0
[T =] AT = 4 16,286 102.6 20,206 124.1
BEOENRELSESH®AEF
= . — 48 5 , . , .
o ® oE BB = 3,860 215.4 5,628 145.8
B M OB € F BT | e 3,775 98.2 3,946 104.5
E B £ F F P # 7 287 81.7 348 121.4
=) it 8 138,272 100.9 146,359 105.8
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(BFFR)

THMIFEICETDEABRFORESEE

[REFFIEET]
AT EANBDIKR
X4 SM3FE6A308RE SM4FE6A30BRE
15H H BIEXT H BIEXTEE
EA % EA %
; A ¥
A = 46,173 100.7 46,655 101.0
CI)BATRENCOLCIL. B HRALRILCOET .
AT 2  EANFRDEBRSDIRR
FESE &2 3
15H Y8 BTEX L Y% BTEX
# % # %
i ale 1
i 5 K # 45,327 101.3 45,413 100.2
% RAk % RAk
= x5 &2
S I & 95.0 +0.3 95.3 +0.3
# % # %
[—] i 3
A F RS R H 14,316 102.9 14,941 104.4
% RAE % RAk
= F & F &| 4
= ?E A A 31.6 +0.5 32.9 +13
_ BAH % =Pl %
&G e s
?E MR & 492,415 1214 690,562 140.2
EFx B HF1H4 5 FH % T/ %
LU BEEH 34,396 118.0 46,219 134.4
BAH % BhAH %
& g8 & %B| 7
FE R & 157,630 129.9 129,378 82.1
x F B H 14 5 FH % T/ %
LY RiEEE 5,083 129.2 4246 83.5
AT 3 : SEANFRDIREED IR
FESE &2 3
15H & % BTEX €& % BTERTEE
BAH % BhAH %
" . -
i = *R =R 93,338 1224 133,782 143.3
AT 4 : HAEATRDIREDIK R
FESE &2 3
15H € # BTEX & % BTERTEE
BAH % BAhAH %
& i i)
i = *R 9,319 2505 14,700 157.7
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(BEFR)

THIEBEEICKITHRRATERFORNSEME

[REFIRET]
AT BRRBINEFEROIKR
X9l SH3E6H3I0BRE SH4E6H30BRE
HH EHEN | AIEXLL A% | AIEXE
e % 7 %
Ll ES 15 & Al 37,068 100.3 37151 100.2
s 53 & pr Al 2 492 95.2 475 96.5
B N Fr| 3 273 63.9 278 101.8
fr | 1B Al 4 18,363 97.8 18,096 98.5
4 ) fh| 5 1,996 99.2 2,002 100.3
= B 6 58,192 99.2 58,002 99.7
F F [ & | 7 693 96.0 673 97.1
s =] P #=| 8 2,778 99.5 2,786 100.3
BREOERNRELSHASF
o ®m E B = 9 336 98.0 336 100.0
M O € F OB O#/ w0 46,609 99.2 46,328 99.4
E B £ B F B B/ 1 590 83.0 410 69.5
AT 2  BRRAABHRFOREDIKR
EHREES &2 =3
HH i % BT L hh %A BT EE
~ B8AH % BAH %
8 F i =] 113,551 97.9 120,453 106.1
pl=d i34 AT B 2 2,226 114.4 2,654 119.2
F F AT = %| 3 2,228 112.1 1,593 715
[T =] AT = 4 28,721 161.1 16,601 57.8
BEOENRELSESH®AEF
o m E B = 5 3,929 210.2 5,216 132.8
B M OB € F BT | e 4677 98.0 4,734 101.2
E B £ F F P # 7 731 73.4 452 61.9
=) it 8 156,062 107.4 151,704 97.2

16




